Linear Algebra o q 205 -U- 30 7
Exam #3 (Chapter 5) Name Date Period
SPRING 2012

USE THE METHODS SPECIFIED IN EACH PROBLEM, AND SHOW ALL STEPS TO
RECEIVE FULL CREDIT!!
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Find the characteristic polynomial of the following matrices:
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2.  For the following matrix, A = B B ]

a.  Find all eigenvalues (classify multiplicity if needed).
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b.  Find corresponding eigenvectors and bases.
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c.  Find matrices P and D such that P is nonsingular and D = P! AP is diagonal.
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3.  For the following matrix, A = [% :}

a.  Find all eigenvalues (classify multiplicity if needed).
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b.  Find corresponding eigenvectors and bases.
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4.  For the following matrix, A = [7 -5 1] AI-A =| -7 25 ' | -7 Qs
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a.  Find all eigenvalues (classify multiplicity if needed).
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b.  Find a maximum set of linearly independent eigenvectors of A.
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c. Is A diagonalizable? If yes, find P such that D = P'AP is diagonal.
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5.  Use matrices to solve the following system of differential equations:
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